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Worksheet: Linear Situations
.1) Napoleon has $40.00 saved up already. To earn more money, he plans to start mowing lawns. He will earn $12.00 for

each lawn he mows. - (2%
l.«') - L9
a) Write an equation to represent the situation: y=12X+ il \/ = 10 2 7 _
b) The inputs (x) represent: #of lowns 240, prsepeeopppe T T

130
c) The outputs {y) represent: _dtmtnf_mmq;ke_bss_ re
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e) The'y-intercept is H0_and it represents _Qu'ﬂ_mg_l__ g0 :

_omount of morey il :
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f) Makeatable. | o
Y g) Graph. Make sure you label your axes. 20
1) 2 ; 30 |
h) Should you connect your points? 20 feeie
b2 ' 10 et
Why or why not? : '
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;/‘5 > W o5 ***Notice: The y-axis i::t;:swied by 12’s. Nobody

100 _af_q_lgm_li';%eﬁ +h9 $l 2 scales graphs by 12's. You should always use a

112 _a.U_m?l:_ance. 7 “common” number, like 1's, 2’s, 5’s, 10’s, 20’s, 100’s,

etc. You will have to estimate where the points go.***
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2) Napoleon is now mowing one of the lawns. All together, the lawn has an area of 1300 square feet. Napoleon is able to
mow 150 square feet of the grass per minute.

a) Write an equation to represent the how many square feet are LEFT unmowed ¥ ]311—-\507( (14 Y" -150r<+130€?

b) The inputs {x) represent: #g? m'lnufes Iyl : "I
c) The outputs (y) represent: gbﬂ__ﬁlm unmowetl ‘ 03 s ;
, RN+ :
d) The slope is=|%) and it represents_mm_ ..\ :
e) The y-intercep®Ts 1300 and it represents gy & - LN 1
_of_lolum_upmoned 0
f) Make a table. ! RN ]
X |y g) Graph. Make sure you label your axes. ; :
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3) The temperature at 6:00 AM is 35°F. Each hour, the temperaiure rises by 4°F.
a) Write an equation to represent the situation: -Y= 354X or Vv = "‘l X435
b) The inputs (x) represent: #of ]{lour' gCer é-OO
¢) The outputs (y) represent: _-_lgu?r_tﬂ:u@, i F)
d) The slope is __“L and it represernits
por_Vour -
e) The y-intercept is .25 _and it represents 1

. {continued on back)
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f) Make a table. A o T 1T
x|y g) Graph. Make sure you label your axes. 55;" - ENE L
; 9 ot :
? ;5 h) Should you connect your paints? N - :
Why or why not? g 358—1— ;
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4) Pedro is making chocolate chip cookies. He has a bag of chocolate chips that contains 25 ate chips. He is very
particular about his cookies, so he makes sure that there are exactly 7 chocolate chips in each cookie.
a) Write an equation to represent the number of chocolate chips used: - e 7)<
b) The inputs (x) represent: _#cokies macl& ;
c) The outputs (y) represent: 3t ch s used 6
d) The slope is 2 and it represents 105 =] 4
pj,[ cookie 5| so——+ -
e) The y-interceptis _Q and it represents _b_{'_chzuths_ 8 Yo b &
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f) Make a table. | _g 30 r e
x |y g) Graph. Make sure you label your axes. | 3 o
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5) Use the same situation as #4. .
a) Write an equation to represent the number of chocolate chips left in the bag V 250“7)( o \} ""'7;( +250

b) The inputs (x) represent: #aokies m’e

¢) The outputs (y) represent: #choc, chins 1p'f+‘ 2] .
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